S=1 /30 vy m-L_ 450 F—20x00x6
BBAA~y 5 — + +
3749 I % CWSH-S-1 BFem] 1B o 4 / h
16-M22&L b ($25) S s | #318. 5x3749L . —/ 2 &
i B 300A SGP 6, 9t JIS G 3452 g 1 m/ v+ o D
JAWzy 7 SGP JIS G 3452 S = 7. 8
Doy K # SS400 10kBeJIS G 3101 — K; ol ™ —
| | . +2 #7% (| SS400 10kE@JIS G 3101 I =
( I— s /% v fry 1| SS400 JIS G 3101 W0
o2 = %2 & 100A SGP 3% JIS G 3452 0
S| S N
L i o — l—* LV 100A SGP AN : ] S
) SR = Y wemmas A | BRBHAy xttE JIS H 8641 200 | 500 o
| | | H | 22 & PREHsy xftt JIS H 8641 1000 0
BP-300x300x1/4" B8 EHEBEAs i *\ D
3x4- M12x200 E P BEEAED MP a B R
4045 1450 1450 4045 7o A=A b (BB 4 B B ERE 2@ & LI J
1000x 1000 O N4 o
50-127/CH-C2492 - D
S5y 7T 20A SG Ivih—I $450
RB-164 P=300 A A " /
8: 1 /3 0 A //:\3 m g XYIKR= ¢60/Qj
3870 “ AR~y 5= 5 i 1000
16-M22#nt (425) ] % CWRH-S-1 N I — 750 750 750 750
T % $355 6x3870L = 500 500
i B  350A SGP 7. 9t JIS G 3452 8|S 5 o0
JXnbxy s SGP JIS G 3452 R S
_ A #f SS400 10kERJIS G 3101 - -
of Mo /% % #7% (| SS400 10kE@JIS G 3101 =]
Bl E| v fry 1| SS400 JIS G 3101 k=7
SRR |/ &  125A SGP 3% JIS G 3452 Vo) —= g
i_\ o A [-150x75x%6, —
T T T T 1 AR M Bh 88 L3822 N A/': Y PX2-M16%Xx250L 7‘/7‘7—71')1/} 800 |
BP-350x350x 1/ 1254 SGP % & WMEBAy 5t JIS H 8641 TS
3x4- M12x200 EFH%;E% Eﬁ’;“ﬁiﬂ;% - — 955y 7 20A SG
: + E=EAE a _
FYH—KL b (BB RB-®16 P=30 VK-l 4600
485 1450 1450 485 z AE S=1/30 —
ft B & B2 2@ BRI + /
. . T F EXT-S R ; - -
S50-127/CH-C2492 = & 5130 _
T %  1000x1000x1000H T S
S=1/30 i B SS400 JIS G 3101
: ~ ® E | ZER3 2mm AIR3 2mm ERI3 Cmm o
3563 BRAA~y 5= w = 15y L-150%x75x6, 5 1000L x2% S|
16-M22#N }  ($25) " %[ CWRH-S-2 EX AR (SS400) JIS G 3101 Ayoy
T % $355 6x3563L x| P8 IAxyI-5,v7 0, 8mm S T¢ P00
i B 350A SGP 7. 9t JIS G 3452 prassze T (o S Eom JIS K 5621 - o
JZNzy 2| SGP JIS G 3452 22 & #iflom JIS K 5621 S
- K A SS400 10kERJIS G 3101 : o o
T == & N 7 7YY ym 4% SS400 10KBRJIS G 3101 fl & & =
02| & b v fry 1| SS400 JIS G 3101 -
L , 7 _ . R |/ 28 125A SGP 3% JIS G 3452 50-127/CH-C2492 3 = —
o W N7 ™
T &I\ AT Ay = =
[] [] [] [] ] [] N AN 1K | FRMBEK v xftE JIS H 8641 <
Bh 35 AL 38 - x
T 1 T 2l BP-350x850% 14/ 22 & BMEHs v st JIS H 8641 =
125A SGP AR EHE B Ivk-—I_ $450 © “— H H T
3x4- M12x200 E H BEEAED MP a
7YA—RL b (BIR)
381, 5 1400 1400 381.5 R o EEE 2@ 150X 75x6. S
— p=
S50-127/CH-C2492 I //%ES % — L-75%x75x%x6 o
[@») T [ N o (@)
= IR ] 3 L-65x65%x6 2
|\ 3 V
S=1/30 1 Ig}
1749 ARk ~y 5 iz 2
16-M22KL b ($25) ] % CWH-S-1 R ?ypi mll 1. w2
T %k | #318, 5x3749L ”‘ % ‘ ‘ \
i B  300A SGP 6, 9t JIS G 3452 8x4- M16x250L
JAWzy 9| SGP JIS G 3452 500 500 FUN—KNL b (BB L 1500 BE 290x250x12
! _ J5yy N K SS400 10kERJIS G 3101 1000
I—WC’”’ /% % #7% [ SS400 10kE@JIS G 3101
ol v fry 1| SS400 JIS G 3101 S=1,30
- | © %0 = \
. J A3 ! J0n scp % 100A SGP 3% JIS G 3452 B X 8
o %@— Aowo T 15050_ 1000x1000 B & HWI-S X AEE
L T e M sapuze A5 UK | BMBR oy xfE JIS H 8641 79y 7 20A SGP RS E=aax3m50n
BLP—eoOxsoomf/ 22 & BMBHsy xftt JIS H 8641 RB-416 P=30 o & SS400 JIS G 3101
3x4- M12x200 BR R IHSSBHM ey k-1 450 B ® EE-3.2mm fE-6. Onn BE-8 Onm
424, 1450 1450 404.5 7Y A—% N b BIA) B SRERED MP a L / [-150x75%6. 5CSS400)JIS G 3101
L 2 &  1500H |L-75x75x6(SS400>  JIS G 3101
fi B & Rz 2@ — L-65x65x6(SS400>  JIS G 3101
AAIE R | 7H3I=9LB50. 1Smm
90-12//CH-Ca492 — B 8% 2L 38 M | $ibft ED JIS K 5621
oS & SiEAtem JIS K 5621
Y=t E-Y (LATA-O
o ft B &
S=1/30 i <
AF—Lry §— 50-127/CH-Ce492
1602 7! & SH-S-1 N
% ¢267. 4x1602L -3
‘ i B | 250A SGP 6. 6t JIS G 3452 SR - - S=1/30
12-M22#%K + (425) JAWzy 7 SGP JIS G 3452 s B L eSxbsxe B K M
A B RO E INE fk SS400 10kERJIS G 3101 Sl [L=69XboX 7l = HWT-S BlIFLX LR
777 ¥ smam 0 SS400 10KkERJIS G 3101 S| e 450 S = & 1000¢ | |
= \ vy b SS400 JIS G 3101 \ ' + % 1000x 1000x1200H
S e § 2 & BOASGPe2A JIS G 34952 B ] o iHoB SS400 JIS G 3101
L e e Kowo T — " B & E®-3.2nm flg-3. 2nn BEK-3 2mn
C ] ] : . . . w = (5ooy | L-65%X65x6(SS400) JIS G 3101
1 1 4N\ mammm 5 AF BLE128 JISK S621 5 * s
c4 ||| 24 : 80A SGP \ ol 28 N W& 71 3-7LBE50. 1Snm
B; _82T4T22§5%i//z i A= AR fj%ﬁlj‘ijﬁ@zso e 3 B = B 85 WL 38 s S SRiEE EP@E JISK 5621
xc Mo m : 2 s = 1 e w— 32 & #ifrem JIS K 562]
301 1000 301 A (FlE E #H &&EAEH 0. 981MPa et = T 4 @ g Y PLF-T (LALA-O)
XEHRRED 1. 48 MPa axo-v16xes0 | 870 | BE -200x200x12 &
g ) 1000
50-127/CH-C2492 7Yn-Fw b GIED 50-127/CH-C2492
N / 3 Z= tis s
EEHRNEER $46910%2 Bl HWEHE =FNY
—ihEELT Ey ER(EFREFEE E201614%2) R 1/30
A =& SCALE: DATE: X7y




